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The figures in the margin mdicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer thé following questjons : 1x8=8
(@) What is supply ?
RIDICIE '
(b) Mention one cause of sh1ft in demand
curve.
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{c) Choose the correct answer : IR (i

ST is a/an (dlrect/ 1nd1rect) i (") ‘What is lthe main cauce of |
e g | | unemployment according to Keynes ?
-_w@mmmﬁﬁ%mw ' ~ o T e ,W@Wqﬁs?'
GST (g @l (W/m) ¥ | . ~

2. Answer any six of the followmg questlons :

. (d) Mentlon one canon of taxation as g1ven :
2x6=12

. by Adam Smith. | : . . o
'.Wﬁﬂawmmmmmﬁw | e Wﬁmﬁ@ﬂﬁm@@m .
(e) Fill in the blank : . ' ' - (g What is opportunity ‘Cost? Give a
~ NDP at factor-cost is ' " (Domestic e ) ~ suitable example
' Income /Nat10nal Income) . . - . S I ¥ ﬁ?? tﬂfﬁ '@W W‘l’ ﬁzﬂl
ﬁ oM of3 1 3 . - (b) Write two key characterlstlcs of
- %WW NDP wr__ . (TR - "monopoly that dlStlngUIShCS it from
C G =W ‘ ; N N o . perfect competltlon
()  What is ‘ex-ante’ savings ? ~ E o PO TR 71 A e A S
‘¢x-ante’ 7 Fe , R °i°f 2ifS Cﬂlﬁ OREP TS '*HT 3’W "m‘
. , ’ j ‘ T \ FHE|
(9) Write True or False : | 4 L
' When demand is perfectly inelastic, . ~ (¢) Define ‘primary deficit’.
elasticity of demand (ey) is zero. L ‘aefi wife’s siRest ferat |
o5 e g B2 ' | .~ (d) Why is production possibility curve
@NWW‘]@K Wﬁ{f@% g, cofodl . (PPC) concave to the origin? Explain.
_Bﬁmamm(eaﬂﬂl o N | Besive SRR Rl PPC)ﬁmeﬁwm
| - a | oo PRI T :
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(h)

@

Point out two.differences between

,Caplta.l accounts and current accounts

of balance of payments

'Wwwﬁ@ﬁwﬁ—ﬁmﬁ

Wfﬁ‘f"nﬁﬁ?}m"i@ml B

- Define producers surplus

@Q"W Qe e ot |

Suppose GDP is Rs. 5 OOO Domestic
residents receive factor payments from

~abroad of Rs. 250. Foreigners receive

Rs. 100 as factor payment from this

~ country. What is the value of GNP ?

$1 T4 Rs. SOOO?QCQGDPIWW%
RO # Rs. 250 Se I Wi Roefic
@ (7T i1t Rs. 1oomﬁwuoNPaqm
e 70

Define multiplier.
@R K ﬁﬁﬁ |

Mentlon any two reasons behind shift
in aggregate demand (AD) curve.

AN W (AD) (IR TSI ﬁm@ |

mﬁzmwu
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.-.(j) Deﬁne purchasmg power parity (PPP)
. with example

me ﬁ%rm—r (PPP)a Fees! ﬁzm |

3. Answer any Jour of the following questlons :

. 5x4=20
Tﬁmwﬁmwﬁﬁ? Tey foral 8

 (a) Dlstmgulsh between Natmnal Income
and Domestic Income. ‘

»'m@amwmwmwmr'

(b) State and explain the central problems r
~of an economy.

43 LRI @@ﬂmﬁmwm |
WT‘?I?IIWITI ' :

: (c) Explam the characteristics of perfect
competition.

ﬁaﬁmﬁﬂma@«%qq%@n |

(d) Explain direct taxes and indirect taxes
' and mention two merits and two
demerits of both. the taxes.

mwwmwwwmqﬁm
oI SRRl SrE 9 |
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(e)

How is market demand curve derived i

if two individuals have different demand
curves for the same product?

| R ot e o g e

)

forsRam oifRm (R R 2w, (ors @R
w&mmﬁmﬁﬁ—i’aaﬁmwn

. _Explajn average propensity to consume
(APC) and marginal propensity to

consume (MPC) with the help of a
suitable diagram.

MG (Slat &gl (APC) SIS Aifed c—m LERIO)|

(MPC) 419l 751 Boigw e e AT I

Distinguish between Elasticity of

. Taxation. and Buoyancy of Taxation.

Wﬁaﬁammwmm@
R T

Derive the ‘formula of income elast1c1ty .

of demand. If income elasticity of
demand is negative, ‘what does it

. signify ?

w&mwmﬁf@wa—ﬁmq 391 | 3
bl oy REfegvmel Ramies 27, (o 3
5 T e
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Answer any two of the following questions :

(a)

law of demand ?

10><2—20

Wﬁmﬁmwrﬁrmwm

State and 111ustrate the law of demand
" using demand schedule and demand |

curve. What are the exceptlo.ns of the
' 6+4= 10

| ‘vmﬁmﬁf‘mmlsﬁmw@ww&mmﬁ

()

WWWWIW?@?W -
%’ﬁs? | .

Descrlbe Keynes’ General Theory of
Employment and Income Wlth the help'
of 'a diagram. L
foum TS @ﬁqa ﬁmm WW ma‘ev—iﬁﬂ -
g R fa .

Narrate the steps involved in estlmatlon .
of national income by . Expendlture
Method of national income accounting.

What are the precautions to. be
undertaken in this. method ? 6+4=10

,ﬁ«qﬁmlaiqﬁf%—ﬁ’ﬁﬂmmm»
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(d) State the two conditions of equilibrium
of any firm. Explain how equilibrium
price and output are determined in a
competitive market. What explains the
efficiency of market equilibrium ?

' 2+7+1=10

o1 141 | 93 eAfSrifreEe @S (@
SIFI W Wi Seofive [ =0 =3 il
9 | IGIT© el (A AT T 22

(e) TIllustrate Progressive, Regressive and
Proportional Taxat1on with diagrams.
4+3+3=10

Bepie FRESH, TN S ST T
ISRl :
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